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B ECEIIREIIIEFEANEILL),

D 900000kg = 900 t
@ 1300kg =| | t 300 kg
@ 103t =| 103000 kg

@ 70000kg = 70 t

® 1180kg =| | t 180 kg
® 72000kg = 72 t
@ 54t100kg =| 54100 kg
45t = | 45000 kg

@ 940t = | 940000 kg
I0I0kg =| | t 10 kg
O 6t = 6000 kg

@ 70t200kg =| 70200 kg
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® 180t =| 180000 kg

@ 30800kg = | 30 t 800 kg
® 15t300kg =| 15300 kg
® 7090kg = | 7 t 90 kg
@ 200t =| 200000 kg

® 570000kg = 570 t
50t = | 50000 kg

@ 4tékg = 4006 kg
@ 101000kg = 1ol t
@ 13900kg = | 13 t 900 kg
@ Ilt=] 11000 kg

@ 1t5kg = 1005 kg




